11 Review of Calculus Jolaillg Jelaill dsealyo ® 19

0.
0
o WSy 720 JS 55 Tin e Garkss oSy S . f € C°(B) o]
F{x)=_sinx, f'(x)=_cosx f"(x)=sinx and fm (x) = COS ¥
o
fl)y=1, f(0)=0,f"(0)= 1 and f(0)=10
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cosx=f(0)+ f'(O)x+T

! "5
=== & = xisin£(x)

(101 JSs Bill X 30 ow (pslas e o b Baley os £(0) o 2o

10.1 S

y=Fr.)= I ; X7

e odtel Ll o Lasd Lo X 0,01 ()5S, Lais

— b

e
cos{(L01) = 1 - =(0.01)" + E(O.Ol)" sin£(0.01) = 0,99995 + Sin£(0.01)
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3 sin2{0.01) = 0.16 x 107 %sinz(0.01)
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[cos(0.01) — 0.99995{ = 016 x 107 sinZ(0.01) < .16 x 107°





